Chapter 7 – Market Segmentation and Targeting
True/False Questions

1.
Market segmentation is the conceptual process of grouping together actual and potential customers in a market for the purpose of selecting targets for effort and for designing marketing programs.


True  (moderate)

2.
The end result of market penetration is the identification of a number of market segments.


False  (moderate)

3.
A proper market segmentation perspective assumes homogeneity of needs and wants for all product categories.


False  (moderate)

4.
“That’s the way we’ve always done it” is the approach to market segmentation that ignores the impact of changes in the environment, customers, and competitors.


True  (moderate)

5.
Operationally, the firm can approach the market segmentation process from two different directions: customer needs first or candidate descriptor first.


True  (difficult)

6.
Technological variables are examples of major segmentation variables used to segment markets.


False  (moderate)

7.
Social/psychological variables include country, region, county size, city or SMSA size, population density, and climate.


False  (moderate)

8.
According to the text, demographic characteristics are physical descriptors of customers.


True  (easy)

9.
Social class is an example of a consumer’s demographic characteristic.


False  (moderate)

10.
Behavioral variables include use occasion, decision-making practices, user situation, composition of the decision-making unit, and type of purchase decision.


True  (moderate)

11.
The many methodological approaches to forming market segments fall into two main categories, which are quantitative and data-crunching.


False  (difficult)

12.
The PRIZM segmentation scheme is basaed largely on geographic variables.

False  (moderate)

13.
According to the PRIZM, cluster of Rustic Living social group, Old Milltowns are described as middle-aged, blue-collar couples and families with rural lifestyles.

False  (difficult)

14.
Young, economically challenged, modestly educated, sprawling families with blue-collar jobs in small, isolated towns describes Bedrock America PRIZM cluster of the Rustic Living social group.

False  (difficult)

15.
Measurable is the market segment criteria that refers to whether the firm knows who is in the segment and their propensity to purchase.


True  (difficult)

16.
According to the text, financial leverage is a factor that describes market segment attractiveness.


False  (difficult)

17.
Firms experienced in market segmentation typically opt for five to eight main segments.


True  (moderate)

18.
Firms that address B2B markets, or sell consumer goods through large retail chains, often focus their efforts on individual customers, known as segments-of-one.


True  (moderate)

19.
When a firm has many customers and has placed purchase transactions in a data warehouse, it can then use linear extrapolation techniques to identify groups based on purchasing patterns and tailor offers to individual customers based on those patterns.


False  (difficult)

20.
Strategic position analysis is an analytic approach that helps the firm decide which segments to address by determining how attractive the segment is for the firm and whether the firm has the business strengths to win in the segment.


True  (moderate)

Multiple Choice Questions

21.
Which of the following represents the new way of developing market segment strategy and positioning?

a.) Many small segments  (moderate)

b.) Crude segmentation

c.) Intuition-driven segmentation

d.) Few large segments

22.
All of the following represent new ways of developing market segment strategy and positioning EXCEPT:

a.) Market segments based mainly on demographics  (moderate)

b.) Precise segmentation

c.) Analytically driven segmentation

d.) Databases central to segmentation

23.
_______________ is the conceptual process of grouping together actual and potential customers in a market for the purpose of selecting targets for effort and for designing marketing programs.

a.) Market penetration

b.) Market expansion

c.) Market segmentation  (moderate)

d.) Market extension

24.
The end result of  _______________ is the identification of a number of market segments.

a.) market penetration

b.) market segmentation  (moderate)

c.) market expansion

d.) market extension

25.
A well-executed market segment strategy provides a firm with all of the following EXCEPT:

a.) secures better insight into strengths and weaknesses of the firm’s internal resources (moderate)

b.) develops a clearer focus on market strategy

c.) identifies opportunities for customization to target segments

d.) secures higher levels of customer satisfaction and loyalty

26.
A proper market segmentation perspective assumes _______________ of needs and wants for all product categories.

a.) homogeneity

b.) heterogeneity  (moderate)

c.) cultural bias

d.) factor similarities

27.
Which of the following is NOT mentioned in the text as an improper approach to market segmentation?

a.) “That’s the way we’ve always done it.”

b.) “That’s the way the data are available.”

c.) “That’s that way we can afford to do it.”  (difficult)

d.) “That’s the way we’re organized.”

28.
Which of the following approaches to market segmentation ignores the impact of changes in the environment, customers, and competitors?

a.) “That’s the way we’ve always done it.”  (moderate)

b.) “That’s the way the data are available.”

c.) “That’s that way we can afford to do it.”  

d.) “That’s the way we’re organized.”

29.
Which of the following best describes the approach to market segmentation that assumes that independent data-gatherers had the firm’s market segmentation problem as their prime goal when devising data collection instruments?

a.) “That’s the way we’ve always done it.”

b.) “That’s the way the data are available.”  (moderate)

c.) “That’s that way we can afford to do it.”  

d.) “That’s the way we’re organized.”

30.
When the market segmentation methods of _______________ is used, it commonly involves government or trade association data used by several competitors in the same industry.

a.) “That’s the way we’ve always done it”

b.) “That’s the way the data are available”  (moderate)

c.) “That’s that way we can afford to do it”  

d.) “That’s the way we’re organized”

31.
The firm can approach the market segmentation process from two different directions:  _____________ or _____________.

a.) customer needs first or candidate descriptor variables first  (difficult)

b.) competitor analysis first or customer needs first

c.) candidate descriptor variables first or competitor analysis first

d.) internal resources first or external resources first

32.
All of the following are mentioned in the text as examples of candidate descriptor variables used to segment markets EXCEPT:

a.) Demographic variables

b.) Behavioral variables

c.) Social/psychological variables

d.) Technological variables  (moderate)

33.
_______________ include country, region, county size, city or SMSA size, population density, and climate.

a.) Geographic variables  (moderate)

b.) Demographic variables

c.) Behavioral variables

d.) Social/psychological variables

34.
According to the text, _______________ are physical descriptors of customers.

a.) geographic variables

b.) demographic variables  (easy)

c.) behavioral variables

d.) social/psychological variables

35.
For consumers, demographic variables include all of the following EXCEPT:

a.) Age

b.) Gender

c.) Education

d.) Personality  (easy)

36.
Which of the following is NOT an example of a consumer’s demographic variable?

a.) Age

b.) Language

c.) Lifestyle characteristics  (moderate)

d.) Nationality

37.
All of the following are examples of demographic variables for organizations EXCEPT:

a.) Firm size

b.) Profitability

c.) Power structure  (moderate)

d.) Legal entity

38.
_______________ include use occasion, decision-making practices, user situation, composition of the decision-making unit, and type of purchase decision.

a.) Geographic variables

b.) Demographic variables

c.) Behavioral variables  (moderate)

d.) Social/psychological variables

39.
Which of the following is NOT an example of a social/psychological variable?

a.) Personality

b.) Attitudes

c.) Social class  (moderate)

d.) Life stage

40.
All of the following are examples of social/psychological variables EXCEPT:

a.) Activities

b.) Interests

c.) Opinions

d.) Family life cycle stage  (moderate)

41.
The many methodological approaches to forming market segments fall into two main categories, which are ______________ and ______________.

a.) qualitative and quantitative (moderate)

b.) qualitative and judgmental

c.) quantitative and data-crunching

d.) intuitive and qualitative

42.
PRIZM is a ______________ segmentation system fo, developed by Claritas Inc., a leading marketing services firm.

a.) geographic 

b.) lifestyle  (moderate)

c.) demographic

d.) technological

43.
According to PRIZM’s clusters with the Rustic Living social group, ___________ are described as middle –aged, blue-collar couples and families with rural lifestyles.  
a.) Crossroad Villagers  (moderate)

b.) Golden Ponds
c.) Old Milltowns
d.) Young and Rustic
44.
Which of the following groups based on PRIZM’s clusers with Rustic Living social group, is described as young, economically challenged, modestly educated, sprawling families with blue-collar jobs in isolated towns?.

a.) Crossroad Villagers
b.) Golden Ponds
c.) Old Milltowns
d.) Bedrock America  (difficult)

45.
Which of the following is NOT mentioned in the text as a criterion of good market segments?

a.) Measurable

b.) Differentiated

c.) Wealthy  (moderate)

d.) Identifiable

46.
Which of the following market segment criteria refers to whether customers will stay in the segment for a reasonable period of time?

a.) Stable (moderate)

b.) Measurable

c.) Accessible

d.) Actionable

47.
Which of the following market segment criteria refers to being able to evaluate size and growth?

a.) Stable

b.) Measurable (moderate)

c.) Accessible

d.) Actionable

48.
Which of the following market segment criteria refers to whether the firm can reach the segment via communications and distribution channels?

a.) Stable

b.) Measurable

c.) Accessible (moderate)
d.) Actionable

49.
Firms experienced in market segmentation typically opt for _______________ segments.

a.) one to three

b.) three to five

c.) five to eight  (difficult)

d.) eight to eleven

50.
Firms that address B2B markets, or sell consumer good through large retail chains, often focus their efforts on individual customers, known as ______________.

a.) mass customization

b.) modularity

c.) mass standardization

d.) segments-of-one  (moderate)

51.
When a firm has many customers and has placed purchase transactions in a data warehouse, it can then use ____________ techniques to identify groups based on purchasing patterns and tailor offers to individual customers based on those patterns.

a.) linear extrapolation

b.) multiple regression

c.) perceptual mapping

d.) data mining  (moderate)

52.
The _______________ is an analytic approach that helps the firm decide which segments to address by determining how attractive the segment is for the firm and whether the firm has the business strengths to win in the segment.
a.) Boston Consulting Group Matrix

b.) PRIZM NE Segmentation System

c.) Roper Starch Worldwide System

d.) Multifactor matrix  (moderate)

53.
All of the following are examples of criteria used for gauging the attractiveness of a segment according to the multifactor matrix EXCEPT:

a.) Market segment size

b.) Market segment share  (difficult)

c.) Market segment growth rate

d.) Degree of vertical integration

54.
Which of the following is NOT one of the four stages of the perceptual map approach to targeting?

a.) Identify two key dimensions of customer’s needs for the perceptual map.

b.) On the map, plot customers’ perceptions of the various products on the market.

c.) Determine the market growth rate of the industry.  (difficult)

d.) Identify the position and size of segments in the market.

55.
Which of the following is NOT mentioned in the texts as a problem faced by the smaller firm when targeting market segments?

a.) There may be a demand shortage.

b.) The small firm may become too successful.

c.) The firm may incur high costs due to a narrow focus.

d.) All selections are problems faced by the smaller firm.  (difficult)

Essay Questions 

56.
In a short essay, list and discuss the commonly found attitudes regarding the internally focused approaches to market segmentation.


Answer

a.) “That’s the way we’ve always done it” – this internally focused method ignores the impact of changes in the environment, customers, and competitors. Clearly, a segmentation method that may have been appropriate in the past could now be outdated in a changing market place.

b.) “That’s the way the data are available” – this passive method assumes that independent data-gatherers had the firm’s market segmentation problem as their prime goals when devising data-collection instruments. When this method is used, it commonly involves government or trade association data used by several competitors in the same industry.

c.) “That’s the way we’re organized” – this method implies that strategic direction is driven by current organization design (strategy follows structure), rather than organization being constructed based on a strategic response to environmental imperatives (structure follows strategy). This method tends to produce rigidity, a particular problem in a changing marketplace.

d.) “That’s the way the competitors do it” – this method accepts equivalence with competitors and ignores the potential for innovative market segmentation to redefine the market and secure superior market position. It renders a company’s moves much more visible in the competitor’s information system and may well result in the firm competing on terms favorable to the competitor.


(difficult)

57.
In a short essay, list and discuss four segmentation variables typically suggested as possibilities among which distinguishing characteristics might be found. Include at least five specific examples of each variable to support your answer.


Answer

a.) Geographic characteristics – include country, region, county size, city or SMSA size, population density, and climate.

b.) Demographic characteristics – these are physical descriptors of customers. For consumers, these include variables such as age, gender, education, family size, social class, language, race, nationality, religion, wealth, income, and occupation. For organizations, they include industry SIC code, firm size, growth, profitability, balance sheet items, legal entity, number of years in business, and length of time at location.

c.) Behavioral variables – include use occasion, decision-making practices, user situation, composition of the decision-making unit, and type of purchase decision. Specific variables for organizations include power structure (such as engineering dominated, financially dominated) and organization of the procurement function (such as centralized or decentralized).

d.) Social/psychological variables – include personality, attitudes, sexual orientation, life stage, social class, and lifestyle characteristics such as activities, interests, and opinions. Corresponding variables for organizations include organizational climate and culture and inward/outward orientation.


(moderate)

58.
In a short essay, list and describe the four stages of developing a perceptual map for targeting.


Answer

a.) Stage 1 – Identify two key dimensions of customers’ needs for the perceptual map.

b.) Stage 2 – On the map, plot customers’ perceptions of the various products on the market.

c.) Stage 3 – Identify the position and size of segments in the market.

d.) Stage 4 – Use product data (step 2) and segment data (step 3) to make targeting decision.

(moderate)

59.
In a short essay, list and discuss the four criteria that should be met prior to grouping customers as market segments.


Answer

a.) Measurable – the firm is able to measure the number of members and propensity to purchase of each segment.

b.) Differentiated – people or organizations in the different segments have different needs and wants, causing them to respond differently to different marketing offers.

c.) Identifiable – demographic and other characteristics of the segments can be identified for the purpose of reaching them with marketing offers.

d.) Appropriate size – neither too small for a large company (too costly) nor too large for a small company (potentially severe competition).

e.) Accessible – the firm can reach the segment via communications and distribution channels using cost-effective approaches.

f.) Stable – customers stay in the segment for a reasonable period of time.


(moderate)

60.
In a short essay, list and discuss three target marketing problems of smaller firms.


Answer

a.) Demand shortage – the small firm targets a few market segments. If demand drops, other segments cannot cushion the impact. An industry-wide recession can wreak havoc with a specialized firm, as happened to many dotcom and high-tech businesses in the early 2000s.

b.) Too successful – the small firm is too successful and attracts the attention of major players.  

c.) High costs – a narrow focus may lead to high costs that the firm cannot offset by high prices.


(moderate)
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